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FACTORISATION

3 Mark Questions

1. Factorise by taking at the common factors:

(i)
ab(a2 + b - 02) — bc(c2 —a® — bz) + ca(a2 + b - 02)

(ii) 2z(a — b) + 3y(ba — bb) + 4z(2b — 2a)

e


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_FoCEZqgmgboi

| ¥ Vatch video solution |

2. Factorise : (:132 — 3:13) (332 — 3z — 1) — 20

o Watch Video Solution

3. Give possible experssions for the length and the
breadth of the rectangular whose area s

1222 — 35z + 25.

o Watch Video Solution

4. Factorise: a®> + > — ¢ — d? + 2ab — 2cd

| s |


https://dl.doubtnut.com/l/_FoCEZqgmgboi
https://dl.doubtnut.com/l/_4psvBlcnGqF2
https://dl.doubtnut.com/l/_m4PRGC76dKIK
https://dl.doubtnut.com/l/_Nr0IzGdrYaNm

| & Watch Video Solution

5.Factorise: a® — 7a® — 8

o Watch Video Solution

6. Evaluate:

5.67 X 5.67 x 5.67 + 4.33 x 4.33 x 4.33

5.67 X 5.67 — 5.67 x 4.33 + 4.33 x 4.33

° Watch Video Solution

a? + 1
a

7. Factorise: 2 + z+1

o Watch Video Solution



https://dl.doubtnut.com/l/_Nr0IzGdrYaNm
https://dl.doubtnut.com/l/_jAUKr8vvsNVC
https://dl.doubtnut.com/l/_bKod4nOYGmI2
https://dl.doubtnut.com/l/_UwK3OzcYM1y4

8. Factorise: z* + y* — 27z%y?

o Watch Video Solution

9.Factorise: 4(2z — 3y)° — 8z + 12y — 3

o Watch Video Solution

10. Factorise :

23z + z — 5/3

° Watch Video Solution



https://dl.doubtnut.com/l/_UwK3OzcYM1y4
https://dl.doubtnut.com/l/_DSYOIRrBZm9Y
https://dl.doubtnut.com/l/_oQeqGLSx4Goo
https://dl.doubtnut.com/l/_6HKX8uBplIcP

11. Factorise the given expression completely:

6x> + Tz — 5

o Watch Video Solution

12. Factorise: 4a® — 96> — 16z2 + 24bc

° Watch Video Solution

13. Factorise: 25a> — 9b% + 12bc — 4c°

° Watch Video Solution



https://dl.doubtnut.com/l/_QkCRpbiCcjA7
https://dl.doubtnut.com/l/_9w6V88wXVLVq
https://dl.doubtnut.com/l/_BTLHO4F2Exmq

14. Factorise: z° — 32> — = + 3

o Watch Video Solution

4 Mark Questions

1. Factorise by taking out the common factors :

1 3
(a?+ — —2—-3a+ —
a a

(iiy m(z — 3y)* + n(3y — z) + bz — 15y

o Watch Video Solution

2. Factorise: 5 — (3a2 — 2a) (6 — 3a® + 2a)


https://dl.doubtnut.com/l/_x4fRT4QXe0Q8
https://dl.doubtnut.com/l/_CXvSQnq4Km7a
https://dl.doubtnut.com/l/_Mbjr0McKpdqj

o Watch Video Solution

3. Factorise: — + o + @’
. Factorise: 35 35CL a

o Watch Video Solution

4. For each trinomial (quadratic expression), given
below find whether it is factorisable or not Factorise,

if possible.

(i) 3z% + 4a — 10, (i) z(2z — 1) — 1

o Watch Video Solution



https://dl.doubtnut.com/l/_Mbjr0McKpdqj
https://dl.doubtnut.com/l/_608rg4vTBr5S
https://dl.doubtnut.com/l/_RKiYZUv27dYS

5. Factorise: (i) 4y/32% 4 5z — 2,/3

(i) 7v/2z% — 10z — 44/2

° Watch Video Solution

6. Factorise :

9a’ + 3a — 8b — 64b°

° Watch Video Solution

7. Factorise: z* + x> +1

° Watch Video Solution



https://dl.doubtnut.com/l/_Y0Y0BINIWiRW
https://dl.doubtnut.com/l/_prI1G1VvMLuB
https://dl.doubtnut.com/l/_UFa5Fx6JXXvK

8. Factorise: (i) 3:137y — 81w4y4

(ii) a®> + 0.064

o Watch Video Solution

9. Show that:
(i) 13% — 5% is divisible by 8.

(ii) 35° + 27% is divisible by 62.

o Watch Video Solution

10. Find the value of:

(i) (987)% — (13)?


https://dl.doubtnut.com/l/_dVNY5CGvLemW
https://dl.doubtnut.com/l/_h9BZvfQVVPDp
https://dl.doubtnut.com/l/_pFHpfpOPowS9

(18.5)% — (6.5)°
18.5 + 6.5

(ii)

o Watch Video Solution

1. Factorise :

8ab® + 12a°b

o Watch Video Solution

2. Factorise :

4(x + y)2 —3(z + )



https://dl.doubtnut.com/l/_pFHpfpOPowS9
https://dl.doubtnut.com/l/_4ZGmkhJ1Miv0
https://dl.doubtnut.com/l/_w73ZufbHzJlB

| W Watch Video Solution

3. Foctorise :

z(a —5) +y(b—a)

o Watch Video Solution

4. Factorise :

ab + bc + ax + cx

° Watch Video Solution



https://dl.doubtnut.com/l/_w73ZufbHzJlB
https://dl.doubtnut.com/l/_GUIti3kNZTOy
https://dl.doubtnut.com/l/_aIu0gYsMqTf7

5. Factorise :

ab® — (a — 1)b — 1.

o Watch Video Solution

6. Factorise :

a*+—+2—5a— —.
a? a

o Watch Video Solution

7. Factorise :

2 + 52 + 6

o Watch Video Solution



https://dl.doubtnut.com/l/_p1CjPp89wHZL
https://dl.doubtnut.com/l/_fSe6Thzi1O0r
https://dl.doubtnut.com/l/_fglFTtpoJeaS

8. Factorise :

2 — 5z + 6

o Watch Video Solution

9. Factorise :

2 — 5z — 6

o Watch Video Solution

10. Factorise :

22 + 52— 6


https://dl.doubtnut.com/l/_fglFTtpoJeaS
https://dl.doubtnut.com/l/_hLEl2QIRTEli
https://dl.doubtnut.com/l/_s3qxzBa6uqD3
https://dl.doubtnut.com/l/_E7lHmpA1JixH

o Watch Video Solution

11. Factorise :

2r2 — 7 + 6

o Watch Video Solution

12. Factorise :

3z2 — 11z — 4

o Watch Video Solution



https://dl.doubtnut.com/l/_E7lHmpA1JixH
https://dl.doubtnut.com/l/_pkv9bDmmSCvM
https://dl.doubtnut.com/l/_GmVEDOQsgOMs

13. Factorise :

6 + 11z + 32

o Watch Video Solution

14. Factorise :

7 — 122 — 4z>

o Watch Video Solution

15. Factorise :

z? + Tz + 6 + px + 6p

o Watch Video Solution



https://dl.doubtnut.com/l/_41w87ohGa60M
https://dl.doubtnut.com/l/_TEbch17YK3yo
https://dl.doubtnut.com/l/_aZ2VvP9ZnZDB

16. Factorise :

12 — (:1:+a32)(8—a:—:132).

° Watch Video Solution

17.1s 522 + 17z + 6 factorisable ? If yes, factorise it.

o Watch Video Solution

18.1s 3z° — 8z — 15 factorisable ? If yes, factorise it.

o Watch Video Solution



https://dl.doubtnut.com/l/_aZ2VvP9ZnZDB
https://dl.doubtnut.com/l/_48GeR9OSTslD
https://dl.doubtnut.com/l/_YnpQHqYDpBnx
https://dl.doubtnut.com/l/_O7A7oZ1CSZ4e

19. Factorise :

2 — 25

o Watch Video Solution

20. Factorise :

Iz —y)* — (z +2y)°

o Watch Video Solution

21. Factorise :

4823 — 2Tz

o Watch Video Solution



https://dl.doubtnut.com/l/_1fBWyseNh2rN
https://dl.doubtnut.com/l/_DwY24saTg2L0
https://dl.doubtnut.com/l/_1gbxEAI3CoNf

22. Factorise:

16a* — b,

° Watch Video Solution

23. Factorise :

162> — y* + dyz — 42°

o Watch Video Solution

24. Factorise :

(1 — :cz) (1 — y2) + 4dxy


https://dl.doubtnut.com/l/_1gbxEAI3CoNf
https://dl.doubtnut.com/l/_Pg7bxHiBsOIN
https://dl.doubtnut.com/l/_JOXDSnroIQY6
https://dl.doubtnut.com/l/_E6QhUw58ZhsN

o Watch Video Solution

25. Factorise :

2134 —i—a:2y2 +y4

o Watch Video Solution

26. Factorise :

(pz . r2)2 _ 42

o Watch Video Solution



https://dl.doubtnut.com/l/_E6QhUw58ZhsN
https://dl.doubtnut.com/l/_UguKKqRWknZC
https://dl.doubtnut.com/l/_jx77bZmfFn4s

27. Factorise :

ad + 270°

o Watch Video Solution

28. Factorise :

16a* + 54a

o Watch Video Solution

29. Factorise :

1
125a° + —
a—|—8

o Watch Video Solution



https://dl.doubtnut.com/l/_Z03V6Z97J6qH
https://dl.doubtnut.com/l/_kI60uLHBvP2K
https://dl.doubtnut.com/l/_yWUHrlAG0uAi

30. Factorise :

ad+b+a+0d

o Watch Video Solution

31. Factorise :

8a3 — 274

o Watch Video Solution

32. Factorise:

20" — 128a


https://dl.doubtnut.com/l/_yWUHrlAG0uAi
https://dl.doubtnut.com/l/_8Q2ElwkdIgkE
https://dl.doubtnut.com/l/_16EHVSRyWLqb
https://dl.doubtnut.com/l/_Jp2976KY3z8O

o Watch Video Solution

33.Show that :

153 — 83 is divisible by 7

o Watch Video Solution

34. Show that :

15 + 8 is divisible by 23.

o Watch Video Solution



https://dl.doubtnut.com/l/_Jp2976KY3z8O
https://dl.doubtnut.com/l/_UnV5bFL9CqyV
https://dl.doubtnut.com/l/_DNsJPQ4lqYRM

35. Factorise :

a? —1

a

w2+ r—1

° Watch Video Solution

36. Factorise :

x4+ yt — 2322y

o Watch Video Solution

37. Factorise :

5 1
a® + — — 18
a2

o Watch Video Solution



https://dl.doubtnut.com/l/_wymFe1bORw7D
https://dl.doubtnut.com/l/_dIahcwMIZQdn
https://dl.doubtnut.com/l/_4O2O1TeItRSK

38. Factorise :

a* —7a® +1

o Watch Video Solution

39. Factorise :

a’® + 3a’b + 3ab® + 2b°.

° Watch Video Solution

40. Factorise : a® — 26a® — 27

| ° Watch Video Solution


https://dl.doubtnut.com/l/_4O2O1TeItRSK
https://dl.doubtnut.com/l/_Fvqr8s4hfekh
https://dl.doubtnut.com/l/_7uoCpHBv7u6Z
https://dl.doubtnut.com/l/_GGMjFNOvbm6f

1. Factorise by taking out the common factors :

2(2z — 5y)(3x + 4y) — 6(2x — by)(z — y)

o Watch Video Solution

2. Factorise by taking out the common factors :

my(3:1:2 — 2y2) — yz(2y2 — 3a:2) + za:(15:132 — 10y2)

o Watch Video Solution



https://dl.doubtnut.com/l/_GGMjFNOvbm6f
https://dl.doubtnut.com/l/_nmMNR9pkKt0C
https://dl.doubtnut.com/l/_0OONjtg2hCkJ
https://dl.doubtnut.com/l/_ZKVGmMe1EiEV

3. Factorise by taking at the common factors:
(i)
ab(a,2 + b — c2) — bc( > _a® — b2) + ca(a,2 +b* — 02)

(i) 2z(a — b) + 3y(5a — 5b) + 42(2b — 2a)

o Watch Video Solution

4. Factorise by taking out the common factors :

2z(a — b) + 3y(5a — 5b) + 42(2b — 2a)

o Watch Video Solution

5. Factorise by grouping method :

a® +a—3a> -3


https://dl.doubtnut.com/l/_ZKVGmMe1EiEV
https://dl.doubtnut.com/l/_vwE53JbJ7u4C
https://dl.doubtnut.com/l/_WDDRPTwD8CrQ

o Watch Video Solution

6. Factorise by grouping method :

16(a + b)* — 4a — 4b

° Watch Video Solution

7. Factorise by grouping method :

a* —2a® — 4a + 8

o Watch Video Solution

8.Factorise: ab — 2b + a®> — 2a


https://dl.doubtnut.com/l/_WDDRPTwD8CrQ
https://dl.doubtnut.com/l/_sGs1d93JX7kr
https://dl.doubtnut.com/l/_owLWZldOLgtt
https://dl.doubtnut.com/l/_Upgedwx1a7U5

o Watch Video Solution

9. Factorise by grouping method :

a,b(w2 + 1) + :L'(a,2 + b2)

° Watch Video Solution

10. Factorise by grouping method :

a’+b—ab—a

o Watch Video Solution

1. Factorise : (v) (az + by)® + (bz — ay)®


https://dl.doubtnut.com/l/_Upgedwx1a7U5
https://dl.doubtnut.com/l/_rs6XY7UnWPRs
https://dl.doubtnut.com/l/_UZ7FyTUTClW5
https://dl.doubtnut.com/l/_CCDyhbPAL2GQ

o Watch Video Solution

12. Factorise by grouping method :

a’z? + (aa:2 + 1):13 +a

° Watch Video Solution

13. Factorise by grouping method :

(2a-b)"(2) - 10a + 5b°

o Watch Video Solution



https://dl.doubtnut.com/l/_CCDyhbPAL2GQ
https://dl.doubtnut.com/l/_PKqO42jPAfFk
https://dl.doubtnut.com/l/_9bpAIhpvbp5U

14. Factorise by grouping method :

a(a —4) —a+4

o Watch Video Solution

15. Factorise by grouping method :

y* — (a + by +ab

° Watch Video Solution

16. Factorise by grouping method :

5 1 3
a*+ ——2—-3a+ —
a? a

o Watch Video Solution



https://dl.doubtnut.com/l/_kZsFm91APQtK
https://dl.doubtnut.com/l/_MIZVPQGVrKpK
https://dl.doubtnut.com/l/_W6Sv7URfNwJk

17. Factorise by grouping method :

2?4y x4 y+ 2zy

o Watch Video Solution

18. Factorise by grouping method :

a’ + 46> — 3a + 6b — 4ab

o Watch Video Solution

19. Factorise by grouping method :

m(z — 3y)* + n(3y — z) + 5z — 15y


https://dl.doubtnut.com/l/_W6Sv7URfNwJk
https://dl.doubtnut.com/l/_xZqUhpgNUh9Z
https://dl.doubtnut.com/l/_TF4osNqQ2Glf
https://dl.doubtnut.com/l/_hhlIqR9jsdzb

o Watch Video Solution

20. Factorise by grouping method :

z(6x — 5y) — 4(6x — 5y)2

o Watch Video Solution

1. Factorise :

a’® + 10a + 24

° Watch Video Solution



https://dl.doubtnut.com/l/_hhlIqR9jsdzb
https://dl.doubtnut.com/l/_yBDv8IMC9rRA
https://dl.doubtnut.com/l/_87jJiEUJY7xV

2. Factorise :

a’ — 3a — 40

o Watch Video Solution

3. Factorise :

1 — 2a — 3a>

o Watch Video Solution

4, Factorise :

2 — 3ax — 88a>

o Watch Video Solution



https://dl.doubtnut.com/l/_QGYorfgGNolu
https://dl.doubtnut.com/l/_LC77r05BA3EC
https://dl.doubtnut.com/l/_bmEnHGWn4y7Q

5. Factorise :

6a’> —a — 15

o Watch Video Solution

6. Factorise :

24a3 + 37a® — 5a

o Watch Video Solution

7. Factorise :

a(3a —2) — 1


https://dl.doubtnut.com/l/_bmEnHGWn4y7Q
https://dl.doubtnut.com/l/_9v6FJdKCCrSl
https://dl.doubtnut.com/l/_BWgIS0mbrlcJ
https://dl.doubtnut.com/l/_VwJgCKvzvWn8

o Watch Video Solution

8. Factorise :

a’b® + 8ab — 9

o Watch Video Solution

9. Factorise :

3 —a(4+ Ta)

o Watch Video Solution



https://dl.doubtnut.com/l/_VwJgCKvzvWn8
https://dl.doubtnut.com/l/_J4eDnpiDtZxP
https://dl.doubtnut.com/l/_BTqAWEMqNFkK

10. Factorise :

(2a + b)> — 6a — 3b — 4

° Watch Video Solution

11. Factorise :

1 —2a —2b—3(a+b)°

o Watch Video Solution

12. Factorise :

3¢> —1— 2a

o Watch Video Solution



https://dl.doubtnut.com/l/_r6lcTTFg1RFd
https://dl.doubtnut.com/l/_IQ23eNFFBVTf
https://dl.doubtnut.com/l/_899ibqYJdzBh

13. Factorise :

22+ 32 +2+azx + 2a

o Watch Video Solution

14. Factorise :

(32 — 2y)® + 3(3z — 2y) — 10

o Watch Video Solution

15. Factorise: 5 — (3a,2 — 2a) (6 — 3a® + 2a,)

‘ o Watch Video Solution


https://dl.doubtnut.com/l/_899ibqYJdzBh
https://dl.doubtnut.com/l/_EmX5RcVenFqm
https://dl.doubtnut.com/l/_OAdWF2AfdqEX
https://dl.doubtnut.com/l/_ZWhb45y6nFtT

16. Factori + 12 + a?
. FACtorise: 35 35a a

o Watch Video Solution

17. Factorise : (zcz — 35(3) (:c2 — 3 — 1) — 20

o Watch Video Solution

18. For each trinomial (quadratic expression), given
below, find whether it is factorisable or not. Factorise.
If possible.

2 — 3z — 54



https://dl.doubtnut.com/l/_ZWhb45y6nFtT
https://dl.doubtnut.com/l/_yvXFoTJJi5zq
https://dl.doubtnut.com/l/_NtVlSgW22fDl
https://dl.doubtnut.com/l/_GNLu7tFDn3Nr

o Watch Video Solution

19. For each trinomial (quadratic expression), given
below, find whether it is factorisable or not. Factorise.
If possible.

2¢% — 7x — 15

o Watch Video Solution

20. For each trinomial (quadratic expression), given
below, find whether it is factorisable or not. Factorise.
If possible.

2x% + 22 — 75



https://dl.doubtnut.com/l/_GNLu7tFDn3Nr
https://dl.doubtnut.com/l/_nXxvr41XdbZT
https://dl.doubtnut.com/l/_J4VYrgYIfAkq

l 0 Watch Video Solution J

21. For each trinomial (quadratic expression), given
below find whether it is factorisable or not Factorise,
if possible.

(i) 32% + 4a — 10, (ii) z(2z — 1) — 1

o Watch Video Solution

22. For each trinomial (quadratic expression), given
below, find whether it is factorisable or not. Factorise.
If possible.

z(2rx — 1) — 1

e~ |


https://dl.doubtnut.com/l/_J4VYrgYIfAkq
https://dl.doubtnut.com/l/_7UQRSS0lRIk4
https://dl.doubtnut.com/l/_D15YUFQjT8UD

| ¥ Vvatch video Solution ]

23. Solve by factorization: 4,/3z + 5z — 2,/3 = 0

o Watch Video Solution

24. Factorise : 7v/222 — 10z — 44/2

o Watch Video Solution

25. Give possible experssions for the length and the

breadth of the rectangular whose area s

1222 — 352 + 25.

[ o |


https://dl.doubtnut.com/l/_D15YUFQjT8UD
https://dl.doubtnut.com/l/_aFCLSAqxaOt9
https://dl.doubtnut.com/l/_f2zSEqzPuj8a
https://dl.doubtnut.com/l/_4YVvegYMZDf1

| & Watch Video Solution

1. Factorise :

25a° — 9b?

° Watch Video Solution

2. Factorise :

a? — (2a + 3b)*

o Watch Video Solution



https://dl.doubtnut.com/l/_4YVvegYMZDf1
https://dl.doubtnut.com/l/_HSVfLbq8L6mn
https://dl.doubtnut.com/l/_cqvxlLjANXAs
https://dl.doubtnut.com/l/_Fqlgaqjj8e4H

3. Factorise :

a? — 81(b — ¢)*

o Watch Video Solution

4. Factorise :

25(2a — b)? — 8117

o Watch Video Solution

5. Factorise :

50a° — 2a

° Watch Video Solution



https://dl.doubtnut.com/l/_Fqlgaqjj8e4H
https://dl.doubtnut.com/l/_nA7jLZvP4EXt
https://dl.doubtnut.com/l/_TrMDlxF7rL66

6. Factorise :

4a°’b — 9b®

o Watch Video Solution

7. Factorise :

3a® — 108a°

o Watch Video Solution

8. Factorise :

9(a — 2)* — 16(a + 2)°



https://dl.doubtnut.com/l/_TrMDlxF7rL66
https://dl.doubtnut.com/l/_NXVdEnDwC0qC
https://dl.doubtnut.com/l/_l2LYd623DYRS
https://dl.doubtnut.com/l/_jUIXvTbDrPoy

| ) Watch Video Solution

9. Factorise :

a* —1

o Watch Video Solution

10. Factorise :

a® + 2% —a—2

° Watch Video Solution



https://dl.doubtnut.com/l/_jUIXvTbDrPoy
https://dl.doubtnut.com/l/_Quu0w0yGlFWG
https://dl.doubtnut.com/l/_kU610kPbTmcC

11. Factorise :

(a+b°—a—b

o Watch Video Solution

12. Factorise :

a(a—1) —b(b—1)

o Watch Video Solution

13. Factorise :

4a® — (4b2 + 4bc + c2)

o Watch Video Solution



https://dl.doubtnut.com/l/_0WKlQP84GghH
https://dl.doubtnut.com/l/_cYnHsAjN7a4M
https://dl.doubtnut.com/l/_eUlGNWmdCGsy

14. Factorise :

4a® — 49b% + 2a — Tb

o Watch Video Solution

15. Factorise :

9a’ + 3a — 8b — 64b°

° Watch Video Solution

16. Factorise :

4a® — 12a + 9 — 49b°


https://dl.doubtnut.com/l/_eUlGNWmdCGsy
https://dl.doubtnut.com/l/_33g5XmOCJ6OL
https://dl.doubtnut.com/l/_r9zEqJPFPBT9
https://dl.doubtnut.com/l/_ec9IF87fNHvz

o Watch Video Solution

17. Factorise :

ey — 2 — dy? + 22

o Watch Video Solution

18. Factorise :

a’ + b — & —d? + 2ab — 2cd

o Watch Video Solution



https://dl.doubtnut.com/l/_ec9IF87fNHvz
https://dl.doubtnut.com/l/_VTBmJn86mUIh
https://dl.doubtnut.com/l/_DWufywr4AYvp

19. Factorise :

422 — 12az — y* — 2% — 2yz + 9a°

o Watch Video Solution

20. Factorise :

(a2 — 1) (b2 — 1) + 4ab

o Watch Video Solution

21. Factorise :

et +x? +1

o Watch Video Solution



https://dl.doubtnut.com/l/_t44mOvAc6LCg
https://dl.doubtnut.com/l/_jLVgujgUmbAT
https://dl.doubtnut.com/l/_8Mp69kI1pbU3

22. Factorise:

(a2 + v - 4c2)2 — 4a0°b?

o Watch Video Solution

23. Factorise :

(:1:2 + 4y — 922)2 — 162%y”

° Watch Video Solution

24. Factorise :

(a +b)? —a® + b


https://dl.doubtnut.com/l/_8Mp69kI1pbU3
https://dl.doubtnut.com/l/_l484GzZBwAH7
https://dl.doubtnut.com/l/_u6PQUQ4nX7kn
https://dl.doubtnut.com/l/_HjYs8p5zdSqJ

o Watch Video Solution

25. Factorise :

a? — b — (a +b)?

o Watch Video Solution

26. Factorise :

9a® — (a2 — 4)2

o Watch Video Solution



https://dl.doubtnut.com/l/_HjYs8p5zdSqJ
https://dl.doubtnut.com/l/_Xjzt4czKOvQd
https://dl.doubtnut.com/l/_xLswn4KsSFBi

27. Factorise :

9 1
ic—i-—z—ll
Xr

o Watch Video Solution

28. Factorise :

4x2 + 1 +1
42

o Watch Video Solution

29. Factorise :

4z* — 22 — 122 — 36

o Watch Video Solution



https://dl.doubtnut.com/l/_n0Q5L5UDf9rG
https://dl.doubtnut.com/l/_lE6D0vJzFuCz
https://dl.doubtnut.com/l/_VXrKJlao6tG6

30. Factorise :

a’(b+¢) — (b+¢)®

o Watch Video Solution

1. Factorise :

a’ — 27

o Watch Video Solution



https://dl.doubtnut.com/l/_VXrKJlao6tG6
https://dl.doubtnut.com/l/_BBDJY0SIH5N2
https://dl.doubtnut.com/l/_pBQISiTslQII

2. Factorise :

1 — 8°

o Watch Video Solution

3. Factorise :

64 — a0

° Watch Video Solution

4, Factorise :

ab + 2753

o Watch Video Solution



https://dl.doubtnut.com/l/_QXQtPCm6EhJU
https://dl.doubtnut.com/l/_PRDSyMiLcm18
https://dl.doubtnut.com/l/_obtthdruTIti

5. Factorise: (i) 32"y — 81zty?

(i) a® + 0.064

° Watch Video Solution

6. Factorise :

27
3
()

o Watch Video Solution

7. Factorise :

a® + 0.064


https://dl.doubtnut.com/l/_obtthdruTIti
https://dl.doubtnut.com/l/_2zg9KeKb4bn6
https://dl.doubtnut.com/l/_O6FrADwSiWm4
https://dl.doubtnut.com/l/_AY5n0rRskTxW

o Watch Video Solution

8. Factorise :

a* — 343a

o Watch Video Solution

9. Factorise :

(x —y)° — 8a°

o Watch Video Solution



https://dl.doubtnut.com/l/_AY5n0rRskTxW
https://dl.doubtnut.com/l/_SOowcbB5cr0Z
https://dl.doubtnut.com/l/_Xro6ilVFoAAl

10. Factorise :

8a3 b’

27 8

o Watch Video Solution

11. Factorise :

ab — b8

o Watch Video Solution

12. Factorise :

a® — 7a® — 8

o Watch Video Solution



https://dl.doubtnut.com/l/_NSKhcjqjj5RY
https://dl.doubtnut.com/l/_KVtfQ0gRVoPJ
https://dl.doubtnut.com/l/_npA9PHYE5QXE

13. Factorise :

a® — 276 + 2a%b — 6ab?

° Watch Video Solution

14. Factorise :

8a® — b — dax + 2bx

° Watch Video Solution

15. Factorise :

a—b—a’+ 0


https://dl.doubtnut.com/l/_npA9PHYE5QXE
https://dl.doubtnut.com/l/_wi1JVSR35uPD
https://dl.doubtnut.com/l/_foClTER8T4j1
https://dl.doubtnut.com/l/_ucyRRSS6mxzh

o Watch Video Solution

16. Factorise :

22° + 54y — 4o — 12y

o Watch Video Solution

17. Factorise :

1029 — 323

o Watch Video Solution



https://dl.doubtnut.com/l/_ucyRRSS6mxzh
https://dl.doubtnut.com/l/_4ER6pNT21UaR
https://dl.doubtnut.com/l/_D1ripnKqH6Wg

18. Show that:
(i) 13% — 5% is divisible by 8.

(i) 35% + 273 is divisible by 62.

° Watch Video Solution

19. Show that :

353 + 272 is divisible by 62.

o Watch Video Solution

20. Evaluate:
5.67 X 5.67 x 5.67 + 4.33 x 4.33 x 4.33

5.67 X 5.67 — 5.67 x 4.33 + 4.33 x 4.33



https://dl.doubtnut.com/l/_8kpRK9674TE5
https://dl.doubtnut.com/l/_0kgCvpiwgUkm
https://dl.doubtnut.com/l/_Xilp4aQRn1a8

‘ o Watch Video Solution

1. Factorise :
1 7
2
41 =T - —
T + 102 + T 5

o Watch Video Solution

2. Factorise :

1 4
902 + — — 2 —12a + —
9a? 3a

o Watch Video Solution



https://dl.doubtnut.com/l/_Xilp4aQRn1a8
https://dl.doubtnut.com/l/_aPvBactcREwZ
https://dl.doubtnut.com/l/_o7isrfSN1MoT

3. Factorise: x> +

o Watch Video Solution

4. Factorise: z* + y4 — 27x2y?

° Watch Video Solution

5. Factorise :

dz* + 9y* + 1122y?

o Watch Video Solution



https://dl.doubtnut.com/l/_aeHqrQPj0PYK
https://dl.doubtnut.com/l/_mUVcDTbEqC4q
https://dl.doubtnut.com/l/_X5PJ93klIBCu
https://dl.doubtnut.com/l/_SYOr5ZFuJz7z

6. Factorise :

5 1
$—|——2—3
I

o Watch Video Solution

7. Factorise :

a—b— 4a® + 4b*

o Watch Video Solution

8. Factorise :

(2a — 3)> —2(2a — 3)(a — 1) + (a — 1)

° Watch Video Solution



https://dl.doubtnut.com/l/_SYOr5ZFuJz7z
https://dl.doubtnut.com/l/_9dyUh4L7EbbO
https://dl.doubtnut.com/l/_XTddo0KUSnDT

9. Factorise :

(a2 — 3a) (a2 — 3a + 7) + 10

° Watch Video Solution

10. Factorise :

(az—a)(4a2—4a—5) —6

° Watch Video Solution

11. Factorise :

2t 4 ot — 322y’

o Watch Video Solution



https://dl.doubtnut.com/l/_UKMliaiVwcXi
https://dl.doubtnut.com/l/_jjjLEQWpieS3
https://dl.doubtnut.com/l/_jGWvnbcbGcZF

12. Factorise :

5a2 — b — 4ab + 7a — Tb

o Watch Video Solution

13. Factorise :

12(3z — 2y)° — (3z — 2y) — 1

o Watch Video Solution

14. Factorise: 4(2x — 3y)2 — 8z + 12y — 3

‘ o Watch Video Solution


https://dl.doubtnut.com/l/_jGWvnbcbGcZF
https://dl.doubtnut.com/l/_xM5UcZnbmCsD
https://dl.doubtnut.com/l/_ZiJ53V4PuKiL
https://dl.doubtnut.com/l/_tKbc2AQGXDAE

15. Factorise :

3— 5z + 5y — 12(z — y)°

° Watch Video Solution

16. Factorise :

922 + 3z — 8y — 64y°

o Watch Video Solution

17. Factorise :

2,3z +z — 5/3


https://dl.doubtnut.com/l/_tKbc2AQGXDAE
https://dl.doubtnut.com/l/_vPNqkdlxCsb7
https://dl.doubtnut.com/l/_yK9WfnrRpwWQ
https://dl.doubtnut.com/l/_c3bHXkXFfirP

o Watch Video Solution

18. Factorise :

1 2 9 2
Z(a+b) — E(2a—b) .

o Watch Video Solution

19. Factorise

2(ab + cd) — a* — b* + ¢ + d?

° Watch Video Solution



https://dl.doubtnut.com/l/_c3bHXkXFfirP
https://dl.doubtnut.com/l/_0zRuDM3ja1Q2
https://dl.doubtnut.com/l/_wCqwOn406c4y

20. Find the value of :

(987)% — (13)°

° Watch Video Solution

21. Find the value of :

(67.8)° — (32.2)°

° Watch Video Solution

22.Find the value of :

(6.7)% — (3.3)°
6.7— 3.3

‘ o Watch Video Solution


https://dl.doubtnut.com/l/_m1ZtFNF2QHZJ
https://dl.doubtnut.com/l/_GrjGs5GehvJt
https://dl.doubtnut.com/l/_H4WRju2fgGEQ

23. Find the value of :

(18.5)* — (6.5)°
18.5 + 6.5

o Watch Video Solution



https://dl.doubtnut.com/l/_H4WRju2fgGEQ
https://dl.doubtnut.com/l/_2ttCsD9SeMtz

